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Factoring ax2 + bx + ¢

12x2 - 2x ~ 4 =
(12x + 4)(x - 1)

12x2-2x—-4 =
(3x — 2)(4x + 2)

- Quick Review

(12x + 4)(x - 1) = 12x2 —~12x +4x -4 =12x2 -8x -4 Wrong!
(3x - 2)(4x + 2) = 12x2 +6x-8x-4=12x2 -2x-4 Right!

Use the FOIL method to test your answer and check that the middle term is correct.

Factor each expression. Use the code to answer this riddle:
i i teacher keep repeating

vhen he found the empty palio
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(2x - 2)(2x - 4)
(2x — 1)(4x + 1)
(6x + 5)(x — 2)

) (Bx + 9)(x + 3)

(Bx + 4)(x + 2)
(2x — 4)(x — 2)

) (Bx + 1)(@x + 1)

(9x + 1)(x + 4)
(7x = 2)(x + 1)
(8x — 5)(x +2)
(2x + 9)(x +9)
(Bx + 1)(x - 3)‘
(2x +2)(3x + 2)
(3x — 3)(x + 3)
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Factoring x2 + bx + C .

W/

Right!

1

X2—-5x—-24 =

(x — 8)(x +3)

— Quick Review

When the last term is positive, the signs in both factors will match the middle term of
the trinomial. When the last term is negative, the factors will have opposite signs.

Factor each expression.

Use the code to answer this riddle:

What did the algebra book s

to the biolo

book?

F 1. x2-5x+6= ()(-*5)()(—-23

10.
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— 2. X2+13x+42 = (\(-&(QX\(—%?S (X + 9)(x + 5)
3. x2-1x+30 = &, 5 Y%~ L) E ) (x—2)(x-3)
- 4. x2+10x+21 = CX‘%E‘)CX*??)\' G (X + 6)(x + 7~
> 5. X2+ 14x+ 45 = CX‘Z"?)CY +5) a9 - Yoes)
6. x2-12x+82= (y 0\ )(X-3B) 1) (x+3)(x~-11)
7. x2-11x+18= (X‘M?DQ(-Z;) L) (x+7)(x+3)
8. X2+8x-—48= (X*‘\L}LX"’{'\) M) (x+12)(x-4)
0. x2-8x-33= (yx —\)(x+3) 0 (x—3)(x+5)
i X2+ 11x +10.= CX'HO}C*-\' ‘L& P (x-2)(x-9)
11. x2-x—-56= ()(’%XX‘F‘?*} "R, (x—8)(x+5)
122 x2+2x-15= (&4 &) &-3) S (x+9)(x+6)
x2+15x+54= (% +9) (X4 ) 1) X+9)x-7)
o x2-3x-402 =5Yrt5) V) (x+10)(x+1)
15. X2+2x-63 = [x+¢\§ (X _'3}> w (x +7)(x—8)
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